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ATmegal128 2 E

» S 7 TE
= 8-bit LE:A,B,C,D,E,F
» 5-bit ZE: G

= L E N0 2 register

Register 7ls x7\%%
DDRx ZEDCHAYE (1: 29,0 €98) 0000_0000
PORTX =3 MY HE 24 0000_0000

high
PINX QFo MY gHE= do = impedance
(Hi2)
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ATmegal28 &

. S 64
= |/O ZE 53T
= LIHX| 11E
S CHE 7[s21/10 HiF 4™ A EA &

ZE ¥ A=7ls

A C |F OEe HE

SPI S4I, EfO|M/7t2EH el pWM =5 H

QF CIHEE ¥ I, EfO|H/7I2H 2= H
ISP(In System Programmer), EEPROM =2 12fd
ADC, JTAG 7|&

RTC(Real Time Clock) €&, 2/F H22| PIHHE

M| m|O|w
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DDRX

Sk M
= OjO|H ek 243
= Tri-state HI{ Soff Y= & 47 7ts
. AMX TH
= O HA

» O HEE 02 28sH ol|E H=2 2= &Eo| E
» OIE HEE 12 €-6IH G| HE2 == To| Z
H E 7 6 5 4 3 2 1 0
DDRx7 DDRx6 DDRXx5 DDRx4 DDRx3 DDRx2 DDRx1 DDRXx0
AT|IM 7| R/W R/W R/W R/W R/W R/W R/W R/W

7| ek 0 0 0 0 0 0 0 0
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PORTX

o
. £

U2 23

= PORTXx ™ A| HX DDRxZE ZEE =#HoZ
a MXA ZFH
= O HA

« ol HES 02 2785t

« S| HES 12 2785t

H E 7 6 5 4 3 2 1 0
PORTx7 | PORTx6 | PORTx5 | PORTx4 | PORTx3 | PORTx2 | PORTx1 | PORTx0
A1/ 7] R/W R/W R/W R/W R/W R/W R/W R/W
=7\ gk 0 0 0 0 0 0 0 0

2024. 03. 21.




PINX

Mot 2ol £9

=

. Q=

» PINXx AIE2 A| HX{ DDRxZ ZEE QHoZ M| OF &
= PINx= read-only2tA PINXO| HIO|HE & =+ 8IS
H E 7 6 5 4 3 2 1 0
PINx7 PINx6 PINX5 PINx4 PINx3 PINX2 PINx1 PINXO
A711247] R R R R R R R R
=708 NA NA NA NA NA NA NA NA
High impedance Tri-state H I Bi-directional &l
VCC VCC dir
L in @— out
FQHIZ d(;r O;Jt
GND GND GND 1 in
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PINXx

= Pull-up % pull-down

VCC VCC
T Pull-up L Pull-down
R ¢
O PINxn O PINxn
[ J
e R
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LED X|0f

LED X|Of 2t

Active high Active low
/10 &l =1 /O &l =0 VCC VCC
@) A
a (@ V) é
R R R R

I
o
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LEDS

= LED2| 87l X0

LED &HEH PORTx & (2%l) PORTx &} (16%1F)
76 5 43210 76543210
. 171111110 Oxfe
] 1111110 1 Oxfd
. 1711110 1 1 Oxfb
. 17111011 1 Oxf7
] 1110111 1 Oxef
. 11011111 Oxdf
. 10111111 Oxbf
. . 01111111 Ox7f

“7{%(on) TH Z (off)
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LEDS

= Proteus

Fiiy
Ut
20| RESET PDO/SCLINTO %
22 1 xTAL1 PEDMHSDJ:jmg [ 27
D D D D D D D D8 =R S YE PD3TXDA/INTS [—22
L EED-GREEN — PD4ICP1 %
211 paoiano POSIXCK1 [—32
521 patiaps PD&IT1 31
e i 2
R1 [JR2 [IR3 [1R4 [1R5 []R6 []R7 []RS8 o S
330 az0 | | 230 330 | | 330 || 230 az0 | | 230 25 { pasians PEY/TXDO/PDO [—~
22 1 pasians PE2IXCKO/AING [—-
22 1 pazian? PE3/OC3A/AINT |2~
s — PE4/OC38/INT4 [—=~
121 peorss PES/OCIC/INTS |-
11 patisci PEBTIINTS [—2-
4r 12 PB2MI0SI PETICRAINTT |——
12 PE3MISO -
2 PB4I0CD Pro/apco |1
2 PBS/OCIA PF1/ADC1 (23
2 PE6IOCTE PF2IADC2 [—22
PE7/0C2/0C1C PF3/ADC3 [—32
. PF4/ADCATCK (3T
2 { pcons PFS/ADCS/TMS [—22
38 1 pciime PFEADCA/TDO |22
221 pcaiato PF7/ADCTITDI 22
T PC3AT1 _ 33
32 | pcamiz PGOTTR |32
23 Pasiat3 PGRD [
4 pceiata PGALE [
22 1 perats PGITOSC2 [—2
= pc4TosCl 12
£2 { arer )
AVCC PEN |——
ATMEGA1ZE
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LEDS

s

#include <xc.h>
#include <avr/io.h>
#include <util/delay.h> -

#define DELAY TIME 1000 .

>
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int main(void) {
DDRB = 0Oxff; // PORTB &8 HE

while (1)
PORTB
PORTB
PORTB
PORTB
PORTB
PORTB
PORTB
PORTB

{

Oxfe;
Oxfd;
Oxfb;
Oxft7;
Oxef;
Oxdf;
Oxbf;
Ox7f;

_delay ms(DELAY TIME); :
_delay ms(DELAY TIME); i
_delay ms(DELAY TIME); i
_delay ms(DELAY TIME); :
_delay ms(DELAY TIME); :
_delay ms(DELAY TIME); i
_delay ms(DELAY TIME); :
_delay ms(DELAY TIME); :
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LEDS

. AT X7

PORTXx 1 1

mask O O
PORTXx 1 1
PORTXx 1 1

mask<<1 0 O

PORTx 1 1

PORTx 1 1
mask<<2 0 O

PORTx 1 1

Xor

Xor

Xor

: A2 mask =0
PORTx = *mask 1 %
sl "SE L PORTx ot 1B

int main(void) {

unsigned char mask= ;

DDRB = ; // PORTB &Y ECL

while (1) { :
if (mask== ) mask = -
PORTB = “mask; :
_delay ms(DELAY TIME) ;
mask = mask<<l;

2024. 03. 21.



LEDS

— int main(void) {
| L__l'% LED .|.|.H EL'I unsigned char mask=0x01, dir=0;

DDRB = Oxff; // PORTB == HL
HEEEREREER while (1) |

o

PORTB = 0Oxff’mask;
_delay ms(DELAY TIME) ;
if (dir==0) {

—_—

: IHHEEEER B mesk = mask<<.;
: ENNNENNER B o
mask = 0x40;
« IHHEEEEEAN B dir = 1
}
5 . } else {
. mask = mask>>1;
6 if (mask==0x00) {
7 . mask = 0x02;
dir = 0;
J )
HFESE Ai HISE A }
o%tdlr=0 o%l:dlr=1 }
mask <<= 1 mask >>= 1 }
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int main(void) {
unsigned char mask=0x03;

5 . mask & DDRB = 0xff; // PORTB =& BLC
; . A|ZE 2F &K while (1) {
if (mask==0x00) mask = 0x03;
4 . > PORTB = 0Oxff”mask;
mask = 0x03 _delay ms(DELAY TIME);
g . mask <<= 2 mask = mask<<?;
}
6 ] )
7 i
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LEDS

int main(void) {

= _H E- unsigned char maskl=0x01, mask2=0x80, dir=0;
" E'|-: LED u l—-I DDRB = Oxff; // PORTB =3 ZE
while (1) {
PORTB = Oxff”(maskl|mask?2);
_delay ms(DELAY TIME) ;

0 . . if (dir==0) {

maskl = maskl<<l;
1 . . mask2 = mask2>>1;

if (maskl==0x10) {

maskl = 0x04;
2 . . mask 27l AH& mask2 = 0x20;
3 B dhst g2 257} dir = 1;
> }

4 . } else {

maskl = mask1l>>1;
5 . . mask?2 = mask2<<l;

if (maskl==0x00) {
6 . . maskl = 0x02;

mask?2 0x40;

7

_ _
}
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LED16

= Proteus

H
Ut
20 | RESET PDO/SCLINTO (52
00000000000 : ZEy
2 xra PD2RXDV/INT2 2L
AR PDITXD1INT3 |25
- PD4nCP1 -2
21 PaoiaDo PDSIXCK1 [—33
o PDGT1 [—1
2 Paoian2 po7m2 |22
48 | pu3iaD3 .
27— Paaiana PEORXDOPDI [~
12 PasiaDs PEITXDOPDO [——
== | PAGIADS PE2/XCKO/AINO [——
PATIADT PE3/OC3AIAINT [~
. _ PE4/OC3B/INTA [~
2| Pe0iSS PESIOC3CINTS |——
1 PeuscK PEGT3/INTS [——
121 peamos PETICPA/INT? |——
o S| PE3MISO T
£ Peaioco PFO/ADCO |5+
2 PBS/OC1A PF1/ADC1 [—25
£ pesiociB PF2/ADC2 |32
PBT/OC2I0CIC PF3/ADC3 22
e PF4/ADCAITCK (21
2 rcoms PFS/ADCSTMS (22
2 pciiag PFBIADCETDO |22
3 pcaiato PFI/ADCTITDl 22
T PC3/A1 _ a3
a0 PC4/A12 PGOANWR 34
22 pesiat3 PGIRD (4
21 pceiats PGIALE [—2
42 1 pciiats PGITOSC2 (5
- PG4TOSC1 [—2
&2 ] AREF i
AVCC PEN |
ATMEGA1ZE
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LED16

= LED2| 167} N O

o [ ]
: .. LEDS
2
< < o 8-bit mask2t A|ZE AL
O 4 .
(al
Z I. l16-bit§ =y
> e
0
1 = LED16
. > ] 16-bit mask2t A|ZE AL
o] ]
: <
S 4 ]
5 ]
6 ]
.7 ]
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LED16

= LED2| 167} N O

PORTAB

—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—
—_—

Xor

N

mask o o0 o o o0 o o o o o o o o o o

PORTAB 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 0

PORTAB 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 A1

< xor
mask<<¢ 0 O O O O O O 1 0 O O O O O 0 o0

PORTAB 1 1 1 1 1 1 1 0 1 1 1 1 1 1 1 1

PORTB PORTA

PORTB = PORTAB >> 8 PORTA = PORTAB --: ALY 2{7} 16-bit ¢f =
: : 8-bit2 Eet Frt
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LED16

= LEDO| 167} H| O

PORTA

PORTB

o HNEEEEEEEEEEEEEE

HEEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEEE
O PR ine main(voia) o
................ unsigned int maSk=OXOOS<134 oe
ENEEEEEEEEEEEEEE ) O s ne
SRR whiteq) |
................ if (maik==0x0090) mask = 0x0001;
ENEEEEEEEEEEEEEN PORTS = (OxfffTAmaek}>>E;
HEEEEEEEEEEEEEEEE _delay_ms (DELAY_TIME) ;
R
EEEEEEEEEEEEEEEE '
HEEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEEE

N\

N oo o AL ND 2O N Tl AW,

4
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LED16

= LED2| 167 M| O

o B
1
: Wl
< 5 O int main(void) {
% < unsigned int mask=0x0003;
o 4 ] DDRA = Oxff; // PORTA &Y RHE
> [] DDRB = 0Oxff; // PORTB &8 RE
6 L] while (1) {
\_7 [ ] if (mask==0x0000) mask = 0x0003;
o ] PORTA = 0OxffffAmask;
1 . PORTB = (0Uxffff®mask)>>8;
5 . _delay ms(DELAY TIME) ;
m mask = mask<<L’;
E 3 []
4 }
O 4 ] }
o
5 []
6 []
.7 []
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LED16

= LEDO| 167} H| O

o

PORTA
A
Y4

N oo o AL ND 2O N Tl AW,

PORTB
A

4

int main(void) {

ENEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEENEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEENEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE
ENEEEEEEEEEEEEE
HEEEEEEEEEEEEEEE '’

unsigned int maskl=0x0001, mask2=0x8000;
unsigned char dir=0;
DDRA = Oxff; // PORTA =8 RE

= i/ = pc
EEEEEEEEEEEEEEE TR

PORTA = OxffffA(maskl|mask?2);
PORTB = (0OxffffA(maskl]|mask2))>>8;
_delay ms(DELAY TIME);
if (dir==0) {
maskl = maskl<<l;
mask?2 = mask2>>1;
if (maskl==0x0100) {
maskl = 0x0040;
mask2 = 0x0200;
dir = 1;
}
} else {
maskl = mask1l>>1;
mask?2 = mask2<<l;
if (maskl==0x0000) {
maskl = 0x0002;
mask2 = 0x4000;
dir = 0;
}
}

2024. 03. 21.
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H &1 &| O]

« HE KO & E

Active low
/0 /O &l =0
] P
T o
GND GND

Active high
VCC VCC

2024. 03. 21.

24



H &1 &| O]

= Proteus

FiY
1
- - 20 { mEseT PDO/SCLINTO %
T PDU/SDA/INT1 [—22
2 st PDZRXD1/INT2 (5L
FYEVYYEY = FEn
L HED-GREEN 21 | prgiapo PD5MXCK] —22
% PA1/ADA PD&IT1 %
43 pnaiapo po7T2 |22
358 1 pa3japs
R1 R2 R3 R4 R5 R6 RY R& AT | paayapa PEO/RXDOED! —2—
aao | | 330 330 | |3z || aa0 330 | | aap 330 % PAS/ADS PE1/TXDO/PDO —3
42 | pagiaDs PE2IXCKO/AING |-
24 ] paziaDy PE3/OC3AIAINT [~
0 . PE4/OC3IBINTS [—2~
9 p0iSS PESIOCSC/INTS [
1 PB1ISCK PESIT3/INTG [—2~
4 2~ PB2MOS! PETACPH/INTT [—
2 { pBamiso -
2 PB4IOCO PFO/ADCO 21
2| pesiocta PF1/ADC1 |22
£ pe&ioCiB PF2/ADC2 |22
PB7/0C2/0CIC PF3/ADC3 |22
= PF4/ADCAITCK [—22
2 pcoas PFSIADCSTMS [—22
2E{ pc1ng PFEIADCAITDO (22
2 PC2IA10 PFT/ADCTTDI |—22
o er—. @r—. | o 22 pcaan e
o o— —o Fgeep L 221 pcain1 PGOTIR |32
| 20 Posiats PG1RD 2
411 poeiata PGAALE |32
PCTIA1S PGATOSC2 [—2
- paaTosc1 |12
e-— a-— or—. P 82 | arer |
0 O— o— —o o— —o0 o AVCC PEN [——
| ATMEGA128
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H &1 &| O]

« IC
int main(void) {
unsigned char button;
DDRB = Oxff; // PORIB =38 EE
DDRC = 0x00; // PORTC ®¥& RE
PORTC = Oxff; // PORTC pull-up, HHE & -> pINCn = 0
while (1) {
button = PINC;
PORTB = button;
_delay ms(DELAY TIME) ;
}
}
. ___________________________________________________________________________________________________________________________________________________________________________________________|
2024. 03. 21.
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—

roteus
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E 2l A
— ] —

A L . L . L . L .
1
22| Reser POOISCLANTD |52 -
- POUSDAINT? (25
2 xraut PO2RXDINT2 2L @—7—]
B xTa2 PDITXDINT3 [—25
29 B3
- POANCPT 22 e—p——
£ eaoiano oSO (22 @ ——
20 Patiapt PDGT1 (31
25 paziane S R SR EEEm
48 ] payians
21 paaiand PEORXDOFDI
22 pasians PE1/TXDO/PDO
£ pasians PE2IXCKO/AIND —.—1 —._1 —._1 _._‘
2] paziany PE3/OC3ATAINT
- . PE4/OCIBINT4
:EE PBO/SS PES/OC3C/NTS [
= PBA/SCK PESITIINTS |
:EE PB2MOSI PETICPHNTT
= PBAMISO L
o PBA/OCO PFoADCO &L 4
sp—— 115 I pesiacia PF1/ADC1 (50
e——1° | Paaocis PF2/ADC2 (22
PBT/0C2I0C1C PFYADCS (55
PFAIADCATCK [—2L
2 peoms PFSIADCSTIS [—2
£ pciing PFBIADCAITDO (53 —9 —9 — e —i 9
3] Pzt PFTIADCTITDI e B B B
391 pcamiz PEOR 22
% PC5/A13 PGARD % 9 9 ¢ .9
PCBIATA PGUALE |2 —0 o0— ¢—0 o— ¢
2] pcriats PGIMTOSC2 [ 1 1
- PG4TOSCT [—2
p— 2 aner oL — @ — @ — e — @
AVCC PEW | D A T A e A s I AT |
ATMEGAT28
/. — & Pt Pt
—0 O— ¢&—0 O0— &—0 O0— o—

27



0@
BRC S IE
NN
. NP

28

000
(| eees
E_m JEIEIK]
- | 3 — 1l
BN Em E ofbpEr

2024. 03. 21.



H &1 Of

= 4x4 LED O§EElA H|Of

= PORTB=B7...B0

= B3...B0=1111,B7...B4=0000 - 25 LED #A %
= B3...B0=0000,B7..B4=1111 > 25 LED 7 &

E 2l A

B3

3 2 1 0 ] [I]
1110_1000 1110_0100 1110_0010 1110_0001
(4, 3) 4, 2) (4, 1) (4, 0) B4
7 6 5 4
1101_1000 1101_0100 1101_0010 1101_0001
(5, 3) (5, 2) (5, 1) (5, 0) BS
11 10 9 8
1011_1000 1011_0100 1011_0010 1011_0001 B6 _@ @
(6, 3) (6, 2) (6, 1) (6, 0)
15 14 13 12 @
0111_1000 0111_0100 0111_0010 0111_0001 B7
(7,3) (7, 2) 7, 1) (7, 0)
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O £ 21 A

» 4x4 LED O EEA X O &

= no=0,1,2,3,...,15

= LED 7Z: HIE (no/4 + 4)2 02, H E (no%4)E 12 47
= LED7HZA: HIE (no%4)E 0=, HIE (no/4 +4)E 12 27

3 2 1 0
1110_1000 1110_0100 1110_0010 1110_0001
(4, 3) (4, 2) 4, 1) (4,0)

7 6 5 4
1101_1000 1101_0100 1101_0010 1101_0001
(5,3) (5, 2) (5, 1) (5,0)
11 10 9 8
1011_1000 1011_0100 1011_0010 1011_0001
(6, 3) (6, 2) (6, 1) (6, 0)
15 14 13 12
0111_1000 0111_0100 0111_0010 0111_0001
(7, 3) (7, 2) (7,1) (7,0)

2024. 03. 21.
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E3 E2 E1

—_—

ES

= KCL

E6 1 I

— O

PEQRXDOPDI |
PE1TXDO/PDO [—
PE2IXGKOMAIND [
PEXOCIAAINT |2
PE4/OC3BANTS |2 & I\
PESIOC3C/NTS [—&
PEGT3/INTE (—=
PETNCPHINTT
PFO/ADCO % &
PFUADCT [—25
PF2/ADC2 [—2=
PF3/ADC3 25
PE4/ADCAITCK [—25
PFSIADCSTMS [—22
PFGIADCETDO [—2% @9 — ¢ — g — g
PETIADCTITON 22 DOLEESEDh o— o— o
PGOATE |22
PGIRD [—22 e e e e
PGHTOSC |—=
— | 1 —1 @ /9 9 @
PEN —— 0 O—] $—0 o— /2 oO— $—2° o—
—l — & Y Y
+—0 O— 0 O0— —0 00— —0 o—

E7 I I

13

12
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|;|-|IIE_-| DHEEIA

« 4x4 H{E IjE A F O

!

!

PORTE =E7...EQ

EO=1—->HHEDQ, 4,8 12E +
E1=1->HH&E1 5 9 138 +
E2=1—- HE 2 6,10, 142 2
E3=1->HE3 7 11,158 &+

[

E3..E0S & E7...E4E 8o
EO, E1,E2, E32 =AMUZ 12 &
4x4 HHE IEEA T O{H HEZ F2l X|
SIS S

2024. 03. 21.

E3 E2 E1 EO
31 H 2 1 0
E4 ] ] ] ]
71 6 5 4
ES | | |
111 10 9 8
E6 | | | |
15 14 13 12
E7

GND
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L I
E E 2| A Xl
. 4x4 H{EH I|E2/A F 0] 7% E3  E2  El  EO
HE S 3 2 1 0 £4 31 H 2 11:4 0
£27t |0000_1000{0000_0100|0000_0010}0000_0001 - | | IS
2122t |0001_1000{0001_0100|0001_0010:0001_0001: 71 H 6 5 4
HE S 7 6 5 4 ES | | |
=37t |0000_1000{0000_0100{0000_0010|{0000_0001 111 H1o 9 3
2/24Zt [0010_1000/0010_0100{0010_0010|0010_0001 E6 I | | |
HEHS 11 10 9 8
15 14 13 12
=87t |0000_1000{0000_0100{0000_0010|{0000_0001 E7 1 1 1 1
22424 |0100_1000{0100_0100/0100_0010|0100_0001 dererermrmrerre e nanas
— : 0000_0001
H & H= 15 14 13 12 : - XOr
o :  0001_0001
=87t |0000_1000{0000_0100{0000_0010|{0000_0001 : :
:  0001_0000 >>4:
ei24Zk  11000_1000{1000_0100{1000_0010{1000_0001 : :
GND i 0000_0001
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« 4x4 HE O§EZA X O 75

ES
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GND
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« 4x4 HE O§EZA X O 75
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m 15
#include <xc.h> void getKeyNo (unsigned char outE) {
#include <avr/io.h> char poE, a, b, no=0;
#include <util/delay.h> poE = PINE;
PoE “= outE;
#define DELAY TIME 1000 POE >>= 4;
#define cbi (REG8, BITNUM) REG8&=~( BV (BITNUM)) if (poE) {
#define sbi (REG8, BITNUM) REG8|=( BV (BITNUM)) a = poE>>1; // divide by 2
if (a>3) a = 3;
void getKeyNo (unsigned char); b = outE>>1;
void number (unsigned char); if (b>3) b = 3;
void delay(int) ; no = (a<<2)+b; // a*4+b
int main(void) { number (no) ;
unsigned char outE = 0x01; }
DDRB = (Oxff; PORTB = 0xf0; }
DDRE = 0x0f; PORTE = outE;
while (1) { void number (unsigned char no) {
getKeyNo (outE) ; sbi (PORTB, no%4);
outE = outE<<l; cbi (PORTB, (no>>2)+4); // no/4+4
if (outE==0x10) outkE = 0x01; _delay ms(DELAY TIME);
PORTE = outE; cbi (PORTB, no%4);
} sbi (PORTB, (no>>2)+4);

} }
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